HB(A) What is the concentration of hydronium ion in an agqueous solution whose pH
is 10.507? (B) What is the hydroxide ion concentration? (C) What molar concentration
of sodium hydroxide solution would provide this pH?
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What is the pH of a sodium hydroxide solution made from dissolving 2.50 g of

sodium hydroxide in enough water to make 500.0 mL of solufion? 9]
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First, we need to find the concentration of the

sodium hydroxide solution.
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The HYDROXIDE ion concentration equals the nominal NaOH concentration...
[0)—{”1 - OJlSm OH’-

POH:'-IO%()CO'IZS) < 0.70 ( POH:’]%%{OH—])
[ pHEpOH 2'H,00)

FH—\—O,9() = lq”Uo

FH: l%,lO


First, we need to find the concentration of the
sodium hydroxide solution.�

The HYDROXIDE ion concentration equals the nominal NaOH concentration...
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For a WEAK ACID, equilibrium does not lie far to the right. The ionization equilibrium
of the acid itself is important!
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For a WEAK BASE, equiiliorium does not lie far fo the right. The ionization equilibrium

of the base itself is important!
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